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Name:  ____________________________

Date:  ____________________________

Signature:  ____________________________

Test:  Primary 5 Maths (Term 2) - MGS

Points:  51 points

Score: ____________

Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers

Question 1 of 51

The value of the digit 6 in 8 697 025 is ____

A) 6 x 100

B) 60 x 100

C) 60 x 1000

D) 600 x 1000

Question 2 of 51

Find the value of 24+(6+2x3)+9x(4+5)

A) 83

B) 91

C) 99

D) 181

Question 3 of 51

Round 541 703 to the nearest thousand.

A) 540 000

B) 541 000

C) 541 700

D) 542 000
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Question 4 of 51

A)

B)

C)

D)

Question 5 of 51

Mary had 2m of ribbon. She used all of it to tie 3 similar presents. How much ribbon did she
use to tie each present?

A)

B)

C)

D)
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Question 6 of 51

A)

B)

C)

D)

Question 7 of 51

Jiemei bought 150 beads. 78 beads were yellow and the rest were green. What fraction of
the beads she bought was green?

A)

B)

C)

D)
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A)

B)

C)

D)
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Question 9 of 51

A) 7÷9

B)

C)

D)

Question 10 of 51

___ :12 = 12:9

What is the missing number?

A) 16

B) 15

C) 3

D) 9

Question 11 of 51

The ratio of the number of girls to the number of boys at a camp is 5:8. There are 102 more
boys than girls. How many boys are there?

A) 94

B) 170

C) 272

D) 442
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Question 12 of 51

A rope of length 72 cm was cut into three pieces. The first piece was three times as long as
the second piece. The second piece was twice as long as the third piece. How long was the
second piece?

A) 12cm

B) 16cm

C) 18cm

D) 24cm

Question 13 of 51

Three boys, Aaron, Bob, Chris, shared a sum of $1370 in the ratio if 1:3:^ respectively. How
much more did Chris receive than Bob?

A) $137

B) $274

C) $411

D) $685

Question 14 of 51

A) 30

B) 60

C) 90

D) 140
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Question 15 of 51

A) 24

B) 36

C) 40

D) 48

Question 16 of 51

Write eight million, eleven thousand and forty in figures

Question 17 of 51

640 000 ÷ ___ = 64 x 10
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Question 18 of 51

Question 19 of 51
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Question 20 of 51

Question 21 of 51
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Question 22 of 51



a) The line QW can be the height of both triangle QRW and triangle PQR

A) True 

B) False 

C) Not possible to tell

Question 23 of 51

b) The b are of triangle PQW is PQ. It height is UW.

A) True 

B) False 

C) Not possible to tell

Question 24 of 51
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Question 25 of 51

Question 26 of 51

Question 27 of 51

The ratio of the amount of money Jane had to the amount of money Kathy had was 5:3.
Jane had $300 more than Kathy. How much money did they have altogether?

Question 28 of 51

The ratio of the sides of a triangle is 3:2:4. The length go the longest side is 12cm. What is
the length of the shortest side of the triangle?
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Question 29 of 51

There is a total of 82 apples and oranges in a box. There are 14 more oranges than apples.
What is the ratio of the number of oranges to the number of apples? Express your answer in
its simplest form 

Question 30 of 51

Question 31 of 51

Arief went to the bank to exchange $295 for some $2 and $5 notes. He has 3 more $5 notes
than $2 notes, How many $2 notes did he receive?
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Question 32 of 51

Question 33 of 51

A shopkeeper sold an equal number of caps and shirts for $312. A cap cost $17. It was $5
cheaper than a shirt. How many shirts did he sell?

Question 34 of 51

There was an equal number of guppies and swordtails in an aquarium. After selling 581
guppies and 205 swordtails, there were 5 times as many swordtails as guppies left. How
many guppies were in the aquarium at first?
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Question 35 of 51

Question 36 of 51
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Question 37 of 51

Pears were sold in packets of 12 and each packet cost $7. William had $240. How many
pears could he buy at most.

Question 38 of 51

At first, Lily had $1144 and Diana had $526. After they each spent an equal amount of
money, Lily had 4 times as much money as Diana. How much did each girl spend?

Question 39 of 51
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Question 40 of 51

Question 41 of 51

A skirt cost 5 times as much as a blouse. Maries paid a total of $132 for 2 identical skirts and
1 blouse. Find the cost of one skirt.

Question 42 of 51

There were 225 more packets of sugar in store A then in store B. After 33 packets of sugar
were transferred from store B to store A, there were 4 times as many packets of sugar in
store A as in store B. How many packets of sugar were there in store A at first?
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Question 43 of 51

Question 44 of 51

Question 45 of 51

b) What was the perimeter of the remaining cloth?
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Question 46 of 51

Ali is three times as old as his son. He is 24 Yeats older than his son. How many years ago
was Ali four times as old as his son?

Question 47 of 51

A teacher has a bag of marbles to distribute equally to his pupils. If each pupils get 10
marbles, the teacher has 34 marbles left. 

If each pupil get 12 marbles, the teacher is short os 48 marbles.

a) How many pupils are there?

Question 48 of 51

b) How many marbles does the teacher have in the bag?

Question 49 of 51
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Question 50 of 51

b) Peter paid $17 more than Ali. What was the cost of the present?

Question 51 of 51



____,____


